| ( - ction 13,
)5[%3i+7j+<i+i)f](p(«5€ " 22

< i'q)()a +6£—((‘,)7+ (a{fi%)(i»z

) 3 [QMJCW{')L+<WJC)J+@M%M%)(<]M

’l: (mt(g—/c + Qﬂ«\ [aset| o]J 4_@4”\ Jrg)k

+ (M’* TVM'QO) D

’1‘: —l)L +</@”‘2 }/’(/J*'C?'O/K
3 —
= 1¢+M3J+~qk

f ( -

6) e [vi’zi “F H—B%" K o

|

“: @Wf( )L +@m"\{'u>?

i: (A arncain [ — QMMO) ¢
< QA-}Z—_»;L'OJL4—CF'”_ f-O)k
- () e « (B 7))«

) C) "3‘2—{: —> S

FlE) = 0T+ o THEFate ) K
o \/‘CO)\?(,'FS’J—LO?

¢, =8 C,=7% 3’2@)4-(’,3‘0 —~ C3z=0 —
Gc7\ ?)T-e-s) )+Q3:<~Jc)l< —

T8 = (8o, )i +(s>f+a2)J + (et a3)‘{<"




ond (&)= O?-(.OT{_IOOF —
Fl)+Cj=¢, Flo)+Ca=0, —1Ce(06)* s = Joo —=

C{:O) C;\:O/ e Q3:/OO a—

"(?C'(:) e Cg‘&}—?+ (5’{:] 74— Ooo\]e-e‘z)-[_:



XC) = Vo[ codot. T y(f/- (Vo] Mo(’t'-—-—jf

Vo
HZ{ = 40 W‘/M
X=6¢o° \
1 > x

€] = Gue )eom ) = (asi(4) £ = 20
X)) = daot . o XE) = 21 km = 21,000 uy —
‘(aowé*& ooo—a t =50 4ae

20) A VA

\K\
> X

J

If])jA

YY) = [l st — +(.8)+5

ZKVOIWLd‘(f~<{?~ED\ MM,%.
7‘14‘/\{, —> yéé)‘“é - L <(VQIMQ(.__L(C{\6)__

ots Yol emmo MWW
4.9 J

[Ve| g
.9




dx lvo o

T = 73 (Bt (—Genot) 4 co0 k- o2 o )
e (G/oio(vM d}»@-—)
4.4
2 - - R - —O

Cold " = gt —> KA=H5 />‘f7l(,o_—q
VAR

X:}_\E_L NG T a5 CQ/C{\/__?
4.9 2

= aq/éoo —>

07‘1’ 00 uy Hhan
fvo = (24,500 ) (7.§) —>

Vo = Vaqoj oo ' = 490 m. /gac
A e
~ Vol = 60 .
Ve /A—-"—-Q,.)
A= ‘(50
_ o
X(£)= (Seo) coudts =4 = ($00) 2 L = 350/F ¢ —

XHE)= asovzx €
Y k) = (5%0) ot dse o+ — L(EeHES
= (5o0) ()4 ~ A4 = asourt— 44,

z(f): ASoVZ+ — 4.9 ﬁ )




L (p50va— 4.9¢)=0 —= +=

J(t4.14) = aso

Y(€) =0 —

xsocf“
x> R0 2se

(n2.15) = 2sovZ (12,15 ) = R E10. 2 m

=
RS
X
&
C@
N
G
S
%
N

@ (14.14) = 4.2 (4. 19) T 4yorq. 5
)/VMWV\)I&) : ‘y{(’é'):o 7

Y &)

X(#]= (382)en30® & wnd

—

b+ (V3] .t ———3{'

32+ (32) 430 + — L (32)75
3+ @2]{——){— — Ié»é’\

o




— YE)= 32+ ek —let* : Wm_?
Yd) =6 —> 22+ 164— 164> = 0 —
~le (L=t —a)= (e (£-a)f+l)z=0 —

E&:;g A’Q’Q;j / dlgFon e WM
X(3) = (32)-co030% (a) = B2)(L )
= 32(3 x |54 )




v,
1o = A Vel? coq 45 m y5°
7.%
TR (VR )2

) Xé(:): e m Hain_
= A IVel® cotX dno
J .
G = &q{ﬁﬂ)& CoQA AN K —>
@)(‘Yc?) =2 QAAMNAK LoLKX = G QK —>
(3-9)* Y
o, AKX == 0. —= 143,13, 36.87°

20l 36-.87 o0 143,13 —

o (8.9° o o T1.L° \/ X

S




73.93 X
XHE) = (Vo conuo® +
Y= 6.5+ Vol dngot — L (32) £

—>

T3.83 = Vo] codyo® £
O = (.5+ Vilsmyqgo™L — (642

+ = 13.%3 o Aot

- {vo Cod 40O

3 2
O:“'*‘//M% 083 )i (i3 ‘>
cc<1<40° (73] ceaq 00

— Q3 ?3) - .54 73.83 24 Yo°
{vo{lmqo . coa q0°
e (73.83)
“7/.2— cot Ho° cot 4o°
6 - . —
(.5 4 1383 an0®  cea q0°
o2 Ho°
\v}‘l__ 161’73 83)"L
o —_

6.5 coa?qo®+ T3.93 4 40° cotq0®
= A7l e
Vol e Va2 = 46.6 % /see.




|
%) ~147 waph  whan
t=o

I

(5 +

w &)

2.5 -1

]

>><
X(‘(‘): (IVC',[ Crd of — 1q)+ - (HEMCQSO__ 14{]%)
YH) = 2.5+ |V ot — Lgta

= Q.5 + (45)ein 3% € — Ta('@o’{)f?\

(o4

30

= 2.5+ (U45)ana3t € - lett

. T
v &) = CQbfcoé£3°* 14 )+ - ¢
+ (2.5+ (145) e 23t — !6%&)-.\7

) MMW y'@_—):o
Y€)= (1d5) #emad®— 32¢ = o —
L= (14s ) 4m 23°
3
Y= 2.5+ 045)0mnaz’ ((.n71) = 161770 )" —

Ymax # [52:©5 1]

2’[{.‘77{ A | g d




C‘) H*th . J’C‘é):o —_—
2.5+ (145)0m 23°%+ — (6+? = o

Lo D145 8023t isteintaze— 4 @s)(-(6)
A (~16)
o~ T856.656 F 4/33¢7.9
~ 32
—56.656 + 5805/
= — X [3.555 .
— 32 L)y
Lot

x= (145 ert 23°- 14)(3.575) 2~ [428. 31 41|
) H y&) = 20 44 | HFhan

2.5+ (J45) pomn 23°. + — (642 = RO —s
02 e+ +7145 223 L + |7.5 o

“E ~ \4'(5—4/‘4’\ 230 = —‘/C\(VS'/J;VV\ &3")9\__\ q(m))((,757
2 (16 ) T

N S Frrorr)

| 32
=GR D - |
J
X (3.3 = (45 econ 23°2 14) (3. 2) & 382.3 4.
X (0.3¢2) = (145 cog 23°— M‘]Co_ 341.1]% 40. §6 /PL./

) Ve, slen fower o (5 4% I
. Roo ,‘;& Mrm%w




